M PE B &%
SA4E3H 31 HBE

(HA7 : 13)

B &R H Sl - WiE 0 B & %A
(PrBh & PE)
T JEHRE 4> 211,109
Blé FIARE EHRE 4 (Fh4%) 0
TIARE HEEE S (EN) 75,008
IEA W3 FE A i
AR SEERE & (21F) 1,632,783
FCARERAT A (LIBT3 gl
Tl e (e
SRR A LT SRR () 0
A TE A EHSR A (Y
SO AL S TR @ AN 0
W TE A SR A
orLompa s | PERE A 1,713,872
BT 42 i
P EE R TEILE 4 138,821
HRAN 4> IR IS 0 28 1,483,865
RUNBL 74 SR 17,332,314
RINE A s 201,908
VB & PE S At 22,789,680
([ e & )
e E B ORI B W 22 1 L YL B 2l LC
BG5S B E SRR T A LI ST FASNTOAHE 1,686,000
S TEA BB EH G54 858 HAE 1 557 050
EE";I W E'\ﬁjﬁﬁﬁdfﬂmﬂﬁiiﬁ L CW\HTEE 4 4
N - S TEA ENEHELTHERL TS TES 120.101
SUASERA T AE LT Sl ’
TGRS H A e i‘%&g%ﬁmmi% ﬁffﬁiﬂ’ib ‘E)g% = ? ’
- - T4 HENEFLELT LCWAHTES
SUARERAT AE LT Sl 31,238
. Ui i B0y 200 XA T BT DB
MECIEH R G BRLHTE FURBSRA TSI LN Sk EHESN COLHES 9,300,000
] =1 A o M i TE A JHAE IR D T A B
FIRRSFREIRE | mgviamunrszr  |Loosnie 1,200,000
e g o SR TEA FRAHERE AR D% AL
A M1 7 PE H
FETERRAEIEE | nmunrer | ooz 0
Z DA D L 2L fit A B EETHY , YN— ABF
e [EPHIRR - i e 2,258,556
- ENEFLELTHEHL D 32 069
NS BRI EETHY YN — N
S eroen s T oA FEICH AL TND 2’115’026
e - ENEFLELCTHEHL D 30 030
NS BRI EETHY YN — N
B Akl T oA FEICH AL TND 3,332,702
- ENEFLELTHEHL D 47 320
NS BRI EETHY YN — N
R S T oA FEIH AL TND 572,707
= ENEHECCHERL S 3 131
NS B PETHY, Y= AbF
R — L O T - REIH AL TS 1’203’656
) = ENEBLELTHHL VD 17 090
NS B PETHY, Y= AbF
RS T % AL TD 383’962
= = ENEEECCHEHAL S 5451
NS B PETHY, Y= AbF
U b ) AL TG 519,898
ENEBLELTHHL TS 7 382
NS B PETHY, Y= AbF
PP b r BRI T 144,525
ENEBELTHERAL TS 2’052
L FAININY At BEMEETHY , v vN— AbE
Eﬁm@ﬁ%&ﬂ Y A—H L CND 1
W SA - H(A) AtE B PEETHY, Vo= b 1
T A-HEIHEHL Q0D
—aERE T AE B EETHY, Vo= A b 1
T A-FFEITHHL TS
£+ nn{}%tﬁ':} S N R (L(’jn% E%"]%’U‘éggi@\ “//;/)\’—}\M' 1
P A-HEITH AL D
——— AR GBI I
T A-HEIHEHL Q0D
e (T ) SRR EETHY, Y N— B 1

s gL TS




BEXREREL E BT - Wi 5 1 A % |
Z OO0 5o P % BRI E Col . vl I FF
EEeE 1280 S BN (GRHLA) A LD 1
s (= A BMETHY, v — A
B (FARL) s L 204,309
e AW BB ETHY, YN~ M 1
: AL TS
e A% A MEE T, Y~ — BT
B (2AE) s ] L 179,708
— TN3% B TE G, v I FF
e b ) AL TG 159,076
— N5 B TE G, v FF
e AL TS 159,076
Lo AN1§ BRAPETHY, YN = B
3D NI TS 184,222
TN B ORI EE G VN — BT 1
e AR LTS
SRR T ABERLLCRITLCV D 0
A% P RORTPE Gl VN — BT o
o - HEITEHAL TS
T R B AL CRITLCV D 0
A% P RORTPE Gl VN — BT
s b AL TG 193,297
N =3 3 N
ENEHELTHEHAL NS 2,746
A% B RORTPE Gl VN — KT 1
i T A LTS
ENEBELCHEIL TS 0
TNk AV EE Gl Vo~ — BT 1
Sy U A-FHEICHEHL Q0D
ENBEBELCHEIL TS 0
TNk AV EE CooD . Vo~ — BT
e P A-FHEICHHL VD 318’872
¥ 3 A5 5 3 N
ENEHELTHEAL NS 4,528
%gﬁﬂuﬂ*@ ENEHELTHEHL WD 152,880
, TNk AV EE Gl Vo~ — BT
TN BB HY 1 2Lk L g, 7,720
B N7 Y 7T - N
EEE RO, ENEBHELTEHL WD 7’020
[ E & PE AR 32,839,203
EREART 55,628,883
(MiEh A &)
TILR— oA —FHEIIHTD
- i 1,595,097
N ENYN AT ZRH
ARAhE: KA XS BRI CEILCD 631
s > s 2 7o SN — N B — IS D
ﬂ%{l’i\{%%%ﬂ hiakis LB D RIS 11,100
N R AN A — T
RILBL 574 fic 74 By & DAL A 14,431,290
PSR TSR SN — N A — S 986.694
0 4 TR BRI ORI ’
e IR T BB ENEBELTHALTOS 51345
BRI B ORI EB ’
AL N B = U —FHEITHT D
H 531 % 4 A 1,557,050
%5’3[%@ B 551X 8%
= 5% ENEBEELCHAL TS 120.101
{5512 & )
TENEES 18,053,308
(HEAK)
e o SN M A — I S
B2 4 B AT o
BIAA AT 51 Y 4 BIEY T BT R 4 1,686,000
&5 EAME A FT 1,686,000
BAfEET 19,739,308
IERR I PE 35,889,575




